
Direction:
In the following questions, one sentence is followed by another containing a blank. Read the sentence properly and
try to select the correct option which makes the sentence meaningfully complete.

Question No. 1

There is a new scheme launched recently by the Union government related to betterment of our roads and

transport system. The funds will be ____________ soon.

Options :

1. Taken

2. Allocated

3. Consumed

4. Confirm

5. Divulge

Answer : Allocated

Direction:
In the following questions, one sentence is followed by another containing a blank. Read the sentence properly and
try to select the correct option which makes the sentence meaningfully complete.

Question No. 2

Know that both big and small changes are bound to happen.It’s important to move out of your comfort zone and

avoid ___________, but always have a back-up plan in case it fails.

Options :

1. Displeasure

2. Accomodation

3. Stagnation

4. Disagreements

5. Abandon

Answer : Stagnation

Direction:
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In the following questions, one sentence is followed by another containing a blank. Read the sentence properly and
try to select the correct option which makes the sentence meaningfully complete.

Question No. 3

Drastic lifestyle changes and life choices can mark the advent of a midlife crisis. It’s really an overwhelming desire to

_______ the course of your life in certain definitive ways. 

Options :

1. Acclimate

2. Retain

3. Sustain

4. Alter

5. Discovered

Answer : Alter

Direction:
In the following questions, one sentence is followed by another containing a blank. Read the sentence properly and
try to select the correct option which makes the sentence meaningfully complete.

Question No. 4

Fresh anti-evasion measures introduced in the past few weeks, such as the e-way billing to track movement of

goods, could plug leakages to some extent. The government is keen to start matching tax credits ________ by

businesses for inputs from suppliers.

Options :

1. Conceal

2. Claimed

3. Limited

4. Announce

5. Distribute

Answer : Claimed

Direction:
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In the following questions, one sentence is followed by another containing a blank. Read the sentence properly and
try to select the correct option which makes the sentence meaningfully complete.

Question No. 5

Access to electricity drives the productivity of households, empowers women and enables education and

communication. Millions of homes still lack this _________ resource in India.

Options :

1. Additional

2. Inessential

3. Optional

4. Vital

5. Secondary

Answer : Vital

Direction:
Rearrange the following six sentences A, B, C, D, E and F in the proper sequence to form a meaningful paragraph;
then answer the questions given below them.

A. Kitchen gardens that would otherwise have rows and rows of the crunchy lai xaak (the Indian version of bok

choy) and coriander are now replaced by bok choy.

B. “We have forgotten to experiment and reach out for easier alternatives,” he says. 

C. As supermarket shelves brim with ready-made sauces and quick fixes for meals, locally-found seasonal

ingredients seem to have no takers.

D. However, there are people like Mehboob Alam Khan, a food connoisseur and expert on Hyderabadi cuisine,

working towards highlighting local produce.

E. So, the traditional winter delicacy lai xaak, bamboo and pork is now bok choy and pork; a somewhat lacklustre

version of the original.

F. Which could be why vegetable vendors in Guwahati, who would otherwise be selling cauliflower this season, are

now selling broccoli.
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Question No. 6

Which is the THIRD sentence of the paragraph?

Options :

1. D

2. B

3. A

4. E

5. F

Answer : A

Direction:
Rearrange the following six sentences A, B, C, D, E and F in the proper sequence to form a meaningful paragraph;
then answer the questions given below them.

A. Kitchen gardens that would otherwise have rows and rows of the crunchy lai xaak (the Indian version of bok

choy) and coriander are now replaced by bok choy.

B. “We have forgotten to experiment and reach out for easier alternatives,” he says. 

C. As supermarket shelves brim with ready-made sauces and quick fixes for meals, locally-found seasonal

ingredients seem to have no takers.

D. However, there are people like Mehboob Alam Khan, a food connoisseur and expert on Hyderabadi cuisine,

working towards highlighting local produce.

E. So, the traditional winter delicacy lai xaak, bamboo and pork is now bok choy and pork; a somewhat lacklustre

version of the original.

F. Which could be why vegetable vendors in Guwahati, who would otherwise be selling cauliflower this season, are

now selling broccoli.

Question No. 7

Which is the SECOND sentence of the paragraph?
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Options :

1. F

2. E

3. D

4. C

5. B

Answer : F

Direction:
Rearrange the following six sentences A, B, C, D, E and F in the proper sequence to form a meaningful paragraph;
then answer the questions given below them.

A. Kitchen gardens that would otherwise have rows and rows of the crunchy lai xaak (the Indian version of bok

choy) and coriander are now replaced by bok choy.

B. “We have forgotten to experiment and reach out for easier alternatives,” he says. 

C. As supermarket shelves brim with ready-made sauces and quick fixes for meals, locally-found seasonal

ingredients seem to have no takers.

D. However, there are people like Mehboob Alam Khan, a food connoisseur and expert on Hyderabadi cuisine,

working towards highlighting local produce.

E. So, the traditional winter delicacy lai xaak, bamboo and pork is now bok choy and pork; a somewhat lacklustre

version of the original.

F. Which could be why vegetable vendors in Guwahati, who would otherwise be selling cauliflower this season, are

now selling broccoli.

Question No. 8

Which is the LAST sentence of the paragraph?

Options :

1. F

2. E
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3. D

4. A

5. B

Answer : B

Direction:
Rearrange the following six sentences A, B, C, D, E and F in the proper sequence to form a meaningful paragraph;
then answer the questions given below them.

A. Kitchen gardens that would otherwise have rows and rows of the crunchy lai xaak (the Indian version of bok

choy) and coriander are now replaced by bok choy.

B. “We have forgotten to experiment and reach out for easier alternatives,” he says. 

C. As supermarket shelves brim with ready-made sauces and quick fixes for meals, locally-found seasonal

ingredients seem to have no takers.

D. However, there are people like Mehboob Alam Khan, a food connoisseur and expert on Hyderabadi cuisine,

working towards highlighting local produce.

E. So, the traditional winter delicacy lai xaak, bamboo and pork is now bok choy and pork; a somewhat lacklustre

version of the original.

F. Which could be why vegetable vendors in Guwahati, who would otherwise be selling cauliflower this season, are

now selling broccoli.

Question No. 9

Which is the FIRST sentence of the paragraph?

Options :

1. C

2. D

3. A

4. F

5. B
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Answer : C

Direction:
Rearrange the following six sentences A, B, C, D, E and F in the proper sequence to form a meaningful paragraph;
then answer the questions given below them.

A. Kitchen gardens that would otherwise have rows and rows of the crunchy lai xaak (the Indian version of bok

choy) and coriander are now replaced by bok choy.

B. “We have forgotten to experiment and reach out for easier alternatives,” he says. 

C. As supermarket shelves brim with ready-made sauces and quick fixes for meals, locally-found seasonal

ingredients seem to have no takers.

D. However, there are people like Mehboob Alam Khan, a food connoisseur and expert on Hyderabadi cuisine,

working towards highlighting local produce.

E. So, the traditional winter delicacy lai xaak, bamboo and pork is now bok choy and pork; a somewhat lacklustre

version of the original.

F. Which could be why vegetable vendors in Guwahati, who would otherwise be selling cauliflower this season, are

now selling broccoli.

Question No. 10

Which sentence is the LAST BUT ONE of the paragraph?

Options :

1. D

2. A

3. C

4. E

5. B

Answer : D

Direction:
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Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence. 

If there is no error, mark the answer 5.

Question No. 11

If sunlight will not come for days together,  it will cause lot of health problems.

Options :

1. If sunlight will not

2. come for days together

3. it will cause lot

4. of health problems

5. No error

Answer : If sunlight will not

Direction:

Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence.  

If there is no error, mark the answer 5.

Question No. 12

The Chairman and the Managing Director Mr Prabhakar attributed the almost flat performance to higher deposit

costs, slower credit off take and stressed assets.

Options :

1. The Chairman and the Managing Director Mr. Prabhakar attributed the

2. almost flat performance

3. to higher deposit costs

4. slower credit off take and stressed assets

5. No error

Answer : The Chairman and the Managing Director Mr. Prabhakar attributed the

Direction:
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Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence.  

If there is no error, mark the answer 5.

Question No. 13

Located 140 km away from Srinagar, Drass valley in Kargil District is often described as the “Gateway to Ladakh.” 

Options :

1. Located 140 km away from Srinagar

2. Drass valley in Kargil District

3. is often described

4. as the “Gateway to Ladakh.

5. No error

Answer : No error

Direction:

Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence.  

If there is no error, mark the answer 5.

Question No. 14

Despite the improvement in nutritional status overall the situation seems green as India has the largest number of

stunted children in the world. 

Options :

1. Despite the improvement in nutritional status

2. overall the situation seems

3. green as India has the largest number

4. of stunted children in the world

5. No error

Answer : green as India has the largest number

Direction:
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Read each sentence to find out whether there is any error in it. The error, if any, will be in one part of the sentence.  

If there is no error, mark the answer 5.

Question No. 15

The CRR cut will only benefit the banks and not the industry, which is suffering of high interest rates and slow

demand. 

Options :

1. The CRR cut will only

2. benefit the banks and

3. not the industry, which is suffering of

4. high interest rates and slow demand.

5. No error

Answer : not the industry, which is suffering of

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?
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Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 16

Which of the following can be inferred as the theme of the passage?

Options :

1. Social media: An insecure place for everyone, irrespective of rank or position.

2. Hacking of high- profile accounts: Has Twitter given up to the hackers?

3. How can people protect their social media accounts from hackers.

4. New techniques used by hackers to get information from account holders.
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5. Advancements in technology: Indian government keen on protecting privacy of social media users around

the globe.

Answer : Hacking of high- profile accounts: Has Twitter given up to the hackers?

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects
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such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 17

How Twitter used to react to the complaints of hacking of profiles in the past?

Options :

1. It recovered the person’s account and erased the data that was posted by the hackers.

2. When a complaint arose, Twitter used to take appropriate steps to prevent such incidents in the future.

3. Twitter used to handle the incident professionally in the past, by involving their PR team

4. Twitter offered an apology and gave a vague reason, whenever an incident happened.

5. Twitter never replied to any complaint raised by its users.

Answer : Twitter offered an apology and gave a vague reason, whenever an incident happened.

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.
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How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 18
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Twitter explained that it has numerous technologies that will protect vital data, but it cannot implement them

because of the privacy policies of different countries.

According to the passage, this statement is-

Options :

1. Definitely true

2. Probably true

3. Definitely false

4. Probably false

5. Cannot be determined

Answer : Definitely false

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by
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the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 19

According to India’s Data Protection Policy framework proposed by the Ministry of IT, how will India protect private

data?

Options :

1. Social media platforms, that do not value people’s privacy, will be banned in India.

2. India will set up a unique interface that will help its users set up a two-step verification.

3. The government will place restrictions on the transfer of personal data outside India.

4. The government has requested foreign governments to build a software that will protect personal data

5. All of these

Answer : The government will place restrictions on the transfer of personal data outside India.
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Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.
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The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 20

What is pulling back the digital economy, that offers a huge potential for economic growth?

Options :

1. Lack of a secure data policy.

2. Intervention of Twitter in data security

3. Government’s lack of interest in these matters

4. Attitude of people towards data security

5. All of these

Answer : Lack of a secure data policy.

Direction:
In the following passage, some of the words have been left out, each of which is indicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate words to make
the paragraph meaningfully complete.

India’s macroeconomic threats lie exposed as it __ (21) __ with the rupee’s slide. The currency sunk to a closing low

of 68.07 against the U.S. dollar on Tuesday, its lowest level in 16 months, before __ (22) __ slightly the next day. The

rupee, already one of the worst performing Asian currencies, has now weakened 6.2% in 2018. The rise in crude oil

prices through this year, __ (23) __ rising geopolitical tensions in West Asia and dwindling global supply, have

obviously hurt the rupee and the trade balance. Meanwhile, despite a __ (24) __ currency, India’s merchandise

exports are stumbling instead of gaining from the opportunity. April __ (25) __ a sharp decline in exports from

employment-intensive sectors such as readymade garments and gems and jewellery, according to official data. The

trade deficit has consequently widened to $13.7 billion in April, compared to $13.25 billion in the same month in 2017.

SBI Clerk 2020 Previous Year Paper Prelims



The value of oil and petroleum product imports increased by 41.5% from last year to hit $10.4 billion.

Question No. 21

Find the appropriate word.

Options :

1. Disconnects

2. Grapples

3. Dodge

4. Avoid

5. Discusses

Answer : Grapples

Direction:
In the following passage, some of the words have been left out, each of which is indicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate words to make
the paragraph meaningfully complete.

India’s macroeconomic threats lie exposed as it __ (21) __ with the rupee’s slide. The currency sunk to a closing low

of 68.07 against the U.S. dollar on Tuesday, its lowest level in 16 months, before __ (22) __ slightly the next day. The

rupee, already one of the worst performing Asian currencies, has now weakened 6.2% in 2018. The rise in crude oil

prices through this year, __ (23) __ rising geopolitical tensions in West Asia and dwindling global supply, have

obviously hurt the rupee and the trade balance. Meanwhile, despite a __ (24) __ currency, India’s merchandise

exports are stumbling instead of gaining from the opportunity. April __ (25) __ a sharp decline in exports from

employment-intensive sectors such as readymade garments and gems and jewellery, according to official data. The

trade deficit has consequently widened to $13.7 billion in April, compared to $13.25 billion in the same month in 2017.

The value of oil and petroleum product imports increased by 41.5% from last year to hit $10.4 billion.

Question No. 22

Find the appropriate word.

Options :

1. Improvement
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2. Manage

3. Recovering

4. Seize

5. Finding

Answer : Recovering

Direction:
In the following passage, some of the words have been left out, each of which is indicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate words to make
the paragraph meaningfully complete.

India’s macroeconomic threats lie exposed as it __ (21) __ with the rupee’s slide. The currency sunk to a closing low

of 68.07 against the U.S. dollar on Tuesday, its lowest level in 16 months, before __ (22) __ slightly the next day. The

rupee, already one of the worst performing Asian currencies, has now weakened 6.2% in 2018. The rise in crude oil

prices through this year, __ (23) __ rising geopolitical tensions in West Asia and dwindling global supply, have

obviously hurt the rupee and the trade balance. Meanwhile, despite a __ (24) __ currency, India’s merchandise

exports are stumbling instead of gaining from the opportunity. April __ (25) __ a sharp decline in exports from

employment-intensive sectors such as readymade garments and gems and jewellery, according to official data. The

trade deficit has consequently widened to $13.7 billion in April, compared to $13.25 billion in the same month in 2017.

The value of oil and petroleum product imports increased by 41.5% from last year to hit $10.4 billion.

Question No. 23

Find the appropriate word.

Options :

1. Wherein

2. In

3. Mid

4. Amidst

5. Whilst

Answer : Amidst

Direction:
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In the following passage, some of the words have been left out, each of which is indicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate words to make
the paragraph meaningfully complete.

India’s macroeconomic threats lie exposed as it __ (21) __ with the rupee’s slide. The currency sunk to a closing low

of 68.07 against the U.S. dollar on Tuesday, its lowest level in 16 months, before __ (22) __ slightly the next day. The

rupee, already one of the worst performing Asian currencies, has now weakened 6.2% in 2018. The rise in crude oil

prices through this year, __ (23) __ rising geopolitical tensions in West Asia and dwindling global supply, have

obviously hurt the rupee and the trade balance. Meanwhile, despite a __ (24) __ currency, India’s merchandise

exports are stumbling instead of gaining from the opportunity. April __ (25) __ a sharp decline in exports from

employment-intensive sectors such as readymade garments and gems and jewellery, according to official data. The

trade deficit has consequently widened to $13.7 billion in April, compared to $13.25 billion in the same month in 2017.

The value of oil and petroleum product imports increased by 41.5% from last year to hit $10.4 billion.

Question No. 24

Find the appropriate word.

Options :

1. Develop

2. Enlarge

3. Extend

4. Depreciating

5. Value

Answer : Depreciating

Direction:
In the following passage, some of the words have been left out, each of which is indicated by a number. Find the
suitable word from the options given against each number and fill up the blanks with appropriate words to make
the paragraph meaningfully complete.

India’s macroeconomic threats lie exposed as it __ (21) __ with the rupee’s slide. The currency sunk to a closing low

of 68.07 against the U.S. dollar on Tuesday, its lowest level in 16 months, before __ (22) __ slightly the next day. The

rupee, already one of the worst performing Asian currencies, has now weakened 6.2% in 2018. The rise in crude oil

prices through this year, __ (23) __ rising geopolitical tensions in West Asia and dwindling global supply, have

obviously hurt the rupee and the trade balance. Meanwhile, despite a __ (24) __ currency, India’s merchandise
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exports are stumbling instead of gaining from the opportunity. April __ (25) __ a sharp decline in exports from

employment-intensive sectors such as readymade garments and gems and jewellery, according to official data. The

trade deficit has consequently widened to $13.7 billion in April, compared to $13.25 billion in the same month in 2017.

The value of oil and petroleum product imports increased by 41.5% from last year to hit $10.4 billion.

Question No. 25

Find the appropriate word.

Options :

1. Neglect

2. Clocked

3. Overlook

4. Perception

5. Arranged

Answer : Clocked

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?
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Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 26

Which of the following is not correct, according to the passage?

Options :

1. Some reports state that hackers bribe Twitter employees to get the details of high-profile Twitter

accounts.

2. The content in Twitter is generated by the user, like other social media platforms.

3. According to Personal Data Protection Bill, foreign apps will be restricted in India.
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4. The provisions of the Data Protection Policy would be similar to the global standards like that of the

European Union’s General Data Protection Regulations.

5. Twitter can protect the data and ensure the safety of its users, thus ensuring the economic growth.

Answer : According to Personal Data Protection Bill, foreign apps will be restricted in India.

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

SBI Clerk 2020 Previous Year Paper Prelims



proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 27

Which of the following is a near synonym of the word ‘instance’?

Options :

1. occupation

2. occurrence

3. occult

4. occidental

5. occupant

Answer : occurrence

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.
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How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 28
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Which of the following is a near synonym of the word ‘wield’?

Options :

1. thank

2. surrender

3. amaze

4. distort

5. display

Answer : display

Direction:
Directions: Read the passage and answer the questions that follow.

There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.
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Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the

individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 29

Which of the following is a near antonym of the word ‘elevate’?

Options :

1. boost

2. lower

3. dominate

4. eradicate

5. flaunt

Answer : lower

Direction:
Directions: Read the passage and answer the questions that follow.
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There have been instances of hacking of Twitter accounts of eminent personalities like Chief Ministers, Prime

Ministers and various organisations like the UCG, etc. in India. Similarly, the handles of Anupam Kher, Rishi Kapoor

and Shahid Kapoor were hacked. Internationally, Twitter handles of eminent personalities like Kanye West, Joe

Biden, Bill Gates and Jeff Bezos were hacked. This raises an obvious question on the existing security policies of

Twitter. The platform has approximately 186 million users, so it is only proper that apprehensions regarding its

security policy would and should be voiced.

How has the company reacted? In the past, it used to offer an apology, albeit an unconvincing one. It claimed that

hackers tricked people and got access to the account credentials of the users. This was neither assuring nor did it

provide any details of how and why it is done and with what purpose. Now, the company doesn’t even address the

situation with even a clarification. Some details have emerged from the investigative journalism of the website,

Vice, whose journalists claimed to have access to the hackers. The revelations were shocking. Hackers boasted

about bribing Twitter employees and consequently enabling the hack of the high-profile Twitter accounts.

Does this mean that Twitter has been compromised from within? Is this a pattern?

Undoubtedly, high-profile accounts/handles wield enormous influence on opinions/narratives. If such high-profile

handles are being easily compromised, then the security measures for common accounts cannot be taken for

granted. Twitter, like any other social media company, remains primarily a platform where content is generated by

the user. Inconvenience to the user would naturally compel him/her to move elsewhere. It’s no wonder that many

users are seeking alternatives.

Cyber experts often mention numerous technologies and enabling tools that protect the vital data, but the

reluctance shown by Twitter to deploy the same is perplexing. The Indian government is contemplating enacting a

comprehensive policy and law on data protection, earlier named the Personal Data Protection Bill, which was

proposed by the Joint Parliamentary Committee (JPC) in December last year. While this has been on the cards for a

while now, since it has some provisions on which there is currently no broad consensus, hence the Ministry of IT has

proposed that it will soon issue a Data Protection Policy framework followed by the law, which will include aspects

such as restrictions on the transfer of personal data outside India. It would ensure that the sensitive personal data

will not be shared with any foreign government or agency unless approved by the Central government.

The provisions of the proposed legislation would be similar to the global standards like that of the European

Union’s General Data Protection Regulations. Both emphasise that users must be informed about the way their data

would be processed and in case of any difference of opinion they can opt out. Even the Supreme Court of India in

its landmark decision in the Puttaswamy judgement has clearly elevated privacy as a fundamental right of the
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individual, which is not only enforceable against the state but also at a private contract level. The ever-growing

digital economy offers huge potential for economic growth, but in the absence of a secure data policy it would be

tough to harness the potential that the digital economy has to offer. Twitter can show us and lead the way by just

implementing the obvious: protect our data, ensure safety of its users. Else as they say, the market is brutal!

Question No. 30

Which of the following is a near antonym of the word ‘brutal’?

Options :

1. attractive

2. tragedy

3. cunning

4. gentle

5. seamless

Answer : gentle

Direction:
Study the following graph carefully and answer the following questions:

The given graph below shows the number of Male workers and Female workers in different factories.

Question No. 31
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What is the difference between the number of male workers in factories A and C together and the number of

female workers in factories B and D together?

Options :

1. 28

2. 31

3. 45

4. 55

5. None of these

Answer : 31

Direction:
Study the following graph carefully and answer the following questions:

The given graph below shows the number of Male workers and Female workers in different factories.

Question No. 32

What is the average of the number of male workers in factories A, B, C and D?

Options :

1. 228

2. 331

3. 145
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4. 282

5. None of these

Answer : 282

Direction:
Study the following graph carefully and answer the following questions:

The given graph below shows the number of Male workers and Female workers in different factories.

Question No. 33

Number of female worker in factory C is approximately what percent less than the number of male workers in

factory E?

Options :

1. 35%

2. 31%

3. 41%

4. 28%

5. None of these

Answer : 41%

Direction:
Study the following graph carefully and answer the following questions:
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The given graph below shows the number of Male workers and Female workers in different factories.

Question No. 34

What is the ratio of the total number of workers in factory C to the number of female factory in Company A?

Options :

1. 31:15

2. 33:14

3. 41:15

4. 28:13

5. None of these

Answer : 31:15

Direction:
Study the following graph carefully and answer the following questions:

The given graph below shows the number of Male workers and Female workers in different factories.

SBI Clerk 2020 Previous Year Paper Prelims



Question No. 35

Find the total number of female workers?

Options :

1. 3111

2. 1051

3. 1154

4. 2851

5. None of these

Answer : 1051

Direction:
What should come in place of question mark ‘?’ in the following number series?

Question No. 36

5, 16, 49, 148, 445, ?

Options :

1. 1336

2. 1051

3. 1136
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4. 1221

5. None of these

Answer : 1336

Direction:
What should come in place of question mark ‘?’ in the following number series?

Question No. 37

13, 22, 38, 63, 99, ?

Options :

1. 138

2. 128

3. 148

4. 158

5. None of these

Answer : 148

Direction:
What should come in place of question mark ‘?’ in the following number series?

Question No. 38

16, 24, 88, 304, 816, ?

Options :

1. 1736

2. 1926

3. 1816

4. 1556

5. None of these

Answer : 1816

Direction:
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What should come in place of question mark ‘?’ in the following number series?

Question No. 39

4, 13, 31, 67, ?, 283

Options :

1. 239

2. 139

3. 189

4. 159

5. None of these

Answer : 139

Direction:
What should come in place of question mark ‘?’ in the following number series?

Question No. 40

6, 4, 5, 8.5, ?, 46

Options :

1. 12

2. 15

3. 18

4. 23

5. None of these

Answer : 18

Direction:
In the following questions two equations are given. You have to solve both the equations and give the answers:

Question No. 41

I. x2 – 26x + 168 = 0
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II. 2y2 - 19y – 60 = 0

Options :

1. if x > y

2. if x < y

3. if x ≥ y

4. if x ≤ y

5. if x = y or the relationship cannot be established

Answer : if x ≥ y

Direction:
In the following questions two equations are given. You have to solve both the equations and give the answers:

Question No. 42

I. x2 – 48x + 576 = 0

II. y2 = 576

Options :

1. if x > y

2. if x < y

3. if x ≥ y

4. if x ≤ y

5. if x = y or the relationship cannot be established

Answer : if x ≥ y

Direction:
In the following questions two equations are given. You have to solve both the equations and give the answers:

Question No. 43

I. 3y2 + 13y - 16 = 0

II. 3x2 – 13x + 14 = 0
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Options :

1. if x > y

2. if x < y

3. if x ≥ y

4. if x ≤ y

5. if x = y or the relationship cannot be established

Answer : if x &gt; y

Direction:
In the following questions two equations are given. You have to solve both the equations and give the answers:

Question No. 44

I. 2x + 3y = 5

II. 3x + 4y = 9

Options :

1. if x > y

2. if x < y

3. if x ≥ y

4. if x ≤ y

5. if x = y or the relationship cannot be established

Answer : if x &gt; y

Direction:
In the following questions two equations are given. You have to solve both the equations and give the answers:

Question No. 45

I. 4x2 – 18x - 36 = 0

II. 6y2 + 20y + 16 = 0

Options :
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1. if x > y

2. if x < y

3. if x ≥ y

4. if x ≤ y

5. if x = y or the relationship cannot be established

Answer : if x = y or the relationship cannot be established

Question No. 46

Rahul goes to a place on a bicycle at a speed of 22 kmph and comes back at a speed of 20 kmph. If the time taken

by him in second case is 36 min more than that of in first case, what is the total distance travelled by him (in km)?

Options :

1. 112 km

2. 156 km

3. 132 km

4. 123 km

5. None of these

Answer : 132 km

Question No. 47

The average of sixty observations was calculated as 30. It was found later, that 45 and 46 of the observation were

misread as 54 and 64 respectively. What is the correct average?

Options :

1. 19.25

2. 24.23

3. 31.01

4. 29.55

5. None of these

Answer : 29.55
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Question No. 48

A man swimming in a stream which flows 2.5 kmph finds that in a given time he can swim thrice as far with the

stream as he can against it. How much distance he will cover in 4 hours against the current?

Options :

1. 7 km

2. 10 km

3. 9 km

4. 12 km

5. None of these

Answer : 10 km

Question No. 49

Two barrels contain a mixture of petrol and diesel. The content of petrol is 40% in the first barrel and 70% in the

second barrel. In what ratio must the mixtures from the first and the second barrels be taken to form a mixture

containing 55% diesel?

Options :

1. 5:2

2. 1:5

3. 7:3

4. 5:1

5. None of these

Answer : 5:1

Question No. 50

How many liters of a 30% sugar solution should be added to 40 liters of a 60% sugar solution to prepare a 50%

solution?
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Options :

1. 10 liters

2. 15 liters

3. 20 liters

4. 30 liters

5. None of these

Answer : 20 liters

Question No. 51

Himank bought a laptop and paid 10% less than the original price. He sold it with 30% profit on the price he had

paid. What percentage of profit did Himank earn on the original price?

Options :

1. 17%

2. 11%

3. 15%

4. 22%

5. None of these

Answer : 17%

Question No. 52

If Rs. 1000 is to be invested at interest rate of 5% and after 10 years, total interest is added to the principal, then the

total number of years from beginning in which it will amount to Rs. 2000 is?

(i) `12(2/5)` years

(ii) `16(2/3)` years

(iii) `11(2/3)` years

(iv) `11(3/4)` years
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(v) None of these

Options :

1. (i)

2. (ii)

3. (iii)

4. (iv)

5. (v)

Answer : (ii)

Question No. 53

The respective ratio among the present age of A, B and C is 3 : 4 : 5. If the average of their present age is 28 years

then what would be the sum of the age of A and B together after 5 years?

Options :

1. 60 years

2. 45 years

3. 59 years

4. 39 years

5. None of these

Answer : 59 years

Question No. 54

A man covers 1/3rd of his journey by cycle at 50 kmph, the next 1/3rd by car at 30 kmph and the rest by walking at 7

kmph. Find the average speed during the whole journey?

Options :

1. 15.29 kmph

2. 11.21 kmph

3. 19 kmph
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4. 12.66 kmph

5. None of these

Answer : 15.29 kmph

Question No. 55

The simple interest accrued on a sum of certain principal is Rs. 2000 in five years at the rate of 4 p.c.p.a. What would

be the compound interest accrued on same principal at the same rate in two years?

Options :

1. Rs. 521

2. Rs. 816

3. Rs. 600

4. Rs. 756

5. None of these

Answer : Rs. 816

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 56

8888 + 848 + 88 - ? = 7337 +737

Options :

1. 1521

2. 1816

3. 1600

4. 1556

5. 1750

Answer : 1750

Direction:
What should come in place of question mark (?) in the following simplification problems?
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Question No. 57

618 + 62 × 0.50 – 29 = ?

Options :

1. 521

2. 320

3. 620

4. 556

5. 750

Answer : 620

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 58

25.6% of 250 + √ ? = 119

Options :

1. 3136

2. 3025

3. 2025

4. 2916

5. 4356

Answer : 3025

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 59

555.05 + 55.50 + 5.55 + 5 +0.55 = ?
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Options :

1. 313.65

2. 621.65

3. 202.55

4. 291.46

5. 435.26

Answer : 621.65

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 60

(46351 – 36418 – 4505) ÷ ? = 1357

Options :

1. 3

2. 6

3. 5

4. 2

5. 4

Answer : 4

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 61

3.2% of 500 × 2.4% of ? = 288

Options :

1. 803

2. 566
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3. 750

4. 620

5. 440

Answer : 750

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 62

?% of 800 = 293 – 22% of 750

Options :

1. 8

2. 36

3. 20

4. 16

5. 10

Answer : 16

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 63

4(5/6) - 5(5/9) = ? - 2(1/3) + 11/18

Options :

1. 0.1

2. 1.1

3. 1

4. 1.6

5. 2

Answer : 1
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Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 64

`3(1/3)-:6(3/7)xx1(1/2)xx22/7 = ?`  

Options :

1. 30/11

2. 29/7

3. 13/2

4. 22/9

5. 42/5

Answer : 22/9

Direction:
What should come in place of question mark (?) in the following simplification problems?

Question No. 65

`2(5/9)xx3(4/5)+? = 12(1/5)`  

Options :

1. 3(20/11)

2. 2(22/45)

3. 1(23/31)

4. 3(12/19)

5. 42/5

Answer : 2(22/45)

Question No. 66
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If a meaningful word can be formed using the 3rd, 4th, 7th and 10th alphabet of the word “PUBLICATIONS” using

each letter only once, second letter of that word is your answer. If more than one such word can be formed, your

answer is M. If no such word can be formed, your answer is N. 

Options :

1. N

2. B

3. O

4. M

5. A

Answer : N

Question No. 67

How many pairs of letters are there in the word “DEFINITION” each of which have as many letters between them in

the word as they have between them in the English alphabetical series?

Options :

1. Three

2. None

3. Four

4. Seven

5. Five

Answer : Seven

Direction:
Study the following information carefully and answer the questions given below:

Point M is 30m north of point N. Point R is 23m south of point Q. Point S is 18m west of point T, which is mid-point

of M and N. Point Q is 10m east of point P. Point O is 25m west of point R. Point P is 8m north of point S.

Question No. 68

SBI Clerk 2020 Previous Year Paper Prelims



What is the direction of point M with respect to point O?

Options :

1. South-west

2. East

3. South

4. North-east

5. None of these

Answer : North-east

Direction:
Study the following information carefully and answer the questions given below:

Point M is 30m north of point N. Point R is 23m south of point Q. Point S is 18m west of point T, which is mid-point

of M and N. Point Q is 10m east of point P. Point O is 25m west of point R. Point P is 8m north of point S.

Question No. 69

What is the shortest distance between Q and S?

Options :

1. √131m

2. 22m

3. √164m

4. √274m

5. None of these

Answer : √164m

Direction:
Study the following information carefully and answer the questions given below:

Point M is 30m north of point N. Point R is 23m south of point Q. Point S is 18m west of point T, which is mid-point

of M and N. Point Q is 10m east of point P. Point O is 25m west of point R. Point P is 8m north of point S.
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Question No. 70

What is the direction of T with respect to O?

Options :

1. West

2. South-west

3. North-east

4. North

5. None of these

Answer : North-east

Direction:
Study the following information carefully and answer the following question below:

Eight persons R, S, T, U, V, W, X and Y are sitting around a circular table but not necessarily in the same order. Some

of them are facing the centre and some of them are not facing the centre. R sits third to the right of Y. Only two

persons sit between Y and S. T sits second to the left of S. Only three persons sit between S and V. U sits second to

left of W, who is not an immediate neighbour of R. The immediate neighbours of Y face the same direction as Y. W

sits third to the left of R, who faces the centre. The immediate neighbours of R face opposite of R.

Question No. 71

Who among the following sits third to the right of U?

Options :

1. T

2. S

3. R

4. V

5. W

Answer : T

Direction:
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Study the following information carefully and answer the following question below:

Eight persons R, S, T, U, V, W, X and Y are sitting around a circular table but not necessarily in the same order. Some

of them are facing the centre and some of them are not facing the centre. R sits third to the right of Y. Only two

persons sit between Y and S. T sits second to the left of S. Only three persons sit between S and V. U sits second to

left of W, who is not an immediate neighbour of R. The immediate neighbours of Y face the same direction as Y. W

sits third to the left of R, who faces the centre. The immediate neighbours of R face opposite of R.

Question No. 72

Who among the following are facing the centre?

Options :

1. RU

2. RXY

3. RS

4. RUT

5. None of these

Answer : RS

Direction:
Study the following information carefully and answer the following question below:

Eight persons R, S, T, U, V, W, X and Y are sitting around a circular table but not necessarily in the same order. Some

of them are facing the centre and some of them are not facing the centre. R sits third to the right of Y. Only two

persons sit between Y and S. T sits second to the left of S. Only three persons sit between S and V. U sits second to

left of W, who is not an immediate neighbour of R. The immediate neighbour of Y face the same direction as Y. W

sits third to the left of R, who faces the centre. The immediate neighbours of R face opposite of R.

Question No. 73

Who among the following sits opposite S?

Options :

1. R
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2. U

3. W

4. V

5. X

Answer : V

Direction:
Study the following information carefully and answer the following question below:

Eight persons R, S, T, U, V, W, X and Y are sitting around a circular table but not necessarily in the same order. Some

of them are facing the centre and some of them are not facing the centre. R sits third to the right of Y. Only two

persons sit between Y and S. T sits second to the left of S. Only three persons sit between S and V. U sits second to

left of W, who is not an immediate neighbour of R. The immediate neighbours of Y face the same direction as Y. W

sits third to the left of R, who faces the centre. The immediate neighbours of R face opposite of R.

Question No. 74

How many persons are sitting between X and S, when counted from the right of S?

Options :

1. Two

2. Three

3. One

4. Four

5. Five

Answer : Two

Direction:
Study the following information carefully and answer the following question below:

Eight persons R, S, T, U, V, W, X and Y are sitting around a circular table but not necessarily in the same order. Some

of them are facing the centre and some of them are not facing the centre. R sits third to the right of Y. Only two

persons sit between Y and S. T sits second to the left of S. Only three persons sit between S and V. U sits second to

left of W, who is not an immediate neighbour of R. The immediate neighbours of Y face the same direction as Y. W

sits third to the left of R, who faces the centre. The immediate neighbours of R face opposite of R.
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Question No. 75

Who among the following sits exactly between Y and R, when counted from the right of Y?

Options :

1. YV

2. XV

3. WY

4. SW

5. UW

Answer : XV

Direction:
Study the below details and answer the following questions.

Certain numbers of people are sitting in a straight line and all are facing in the north direction.

(i) S is sitting at one of the extreme ends but is not a neighbour of M. T who is sitting at second position from one

of the ends, is not a neighbour of M. Only four people are sitting between M and V who is sitting at fifth position

from the extreme end.

(ii) U is sitting third to right of S who is neighbour of J. Only two persons are sitting to the right of K who is sitting

to the immediate right of R. W is sitting second to left of V.

(iii) Q is sitting between W and V but he is not sitting to right of V. L is sitting at one of the places to right of R. J is

sitting to left of U who is sitting to the immediate left of P. Only two persons sit between P and V.

Question No. 76

Who is sitting third to right of K?

Options :

1. None

2. V

3. P
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4. Q

5. R

Answer : None

Direction:
Study the below details and answer the following questions.

Certain numbers of people are sitting in a straight line and all are facing in the north direction.

(i) S is sitting at one of the extreme ends but is not a neighbour of M. T who is sitting at second position from one

of the ends, is not a neighbour of M. Only four people are sitting between M and V who is sitting at fifth position

from the extreme end.

(ii) U is sitting third to right of S who is neighbour of J. Only two persons are sitting to the right of K who is sitting

to the immediate right of R. W is sitting second to left of V.

(iii) Q is sitting between W and V but he is not sitting to right of V. L is sitting at one of the places to right of R. J is

sitting to left of U who is sitting to the immediate left of P. Only two persons sit between P and V.

Question No. 77

Who is sitting immediate left of L?

Options :

1. K

2. J

3. Q

4. M

5. None of these

Answer : None of these

Direction:
Study the below details and answer the following questions.

Certain numbers of people are sitting in a straight line and all are facing in the north direction.
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(i) S is sitting at one of the extreme ends but is not a neighbour of M. T who is sitting at second position from one

of the ends, is not a neighbour of M. Only four people are sitting between M and V who is sitting at fifth position

from the extreme end.

(ii) U is sitting third to right of S who is neighbour of J. Only two persons are sitting to the right of K who is sitting

to the immediate right of R. W is sitting second to left of V.

(iii) Q is sitting between W and V but he is not sitting to right of V. L is sitting at one of the places to right of R. J is

sitting to left of U who is sitting to the immediate left of P. Only two persons sit between P and V.

Question No. 78

Who among them is sitting between P and V?

Options :

1. W

2. J

3. K

4. Q

5. Both W and Q

Answer : Both W and Q

Direction:
Study the below details and answer the following questions.

Certain numbers of people are sitting in a straight line and all are facing in the north direction.

(i) S is sitting at one of the extreme ends but is not a neighbour of M. T who is sitting at second position from one

of the ends, is not a neighbour of M. Only four people are sitting between M and V who is sitting at fifth position

from the extreme end.

(ii) U is sitting third to right of S who is neighbour of J. Only two persons are sitting to the right of K who is sitting

to the immediate right of R. W is sitting second to left of V.

(iii) Q is sitting between W and V but he is not sitting to right of V. L is sitting at one of the places to right of R. J is

sitting to left of U who is sitting to the immediate left of P. Only two persons sit between P and V.
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Question No. 79

Who among them is sitting at the extreme end?

Options :

1. S

2. L

3. J

4. Both S and L

5. None of these

Answer : Both S and L

Direction:
Study the below details and answer the following questions.

Certain numbers of people are sitting in a straight line and all are facing in the north direction.

(i) S is sitting at one of the extreme ends but is not a neighbour of M. T who is sitting at second position from one

of the ends, is not a neighbour of M. Only four people are sitting between M and V who is sitting at fifth position

from the extreme end.

(ii) U is sitting third to right of S who is neighbour of J. Only two persons are sitting to the right of K who is sitting

to the immediate right of R. W is sitting second to left of V.

(iii) Q is sitting between W and V but he is not sitting to right of V. L is sitting at one of the places to right of R. J is

sitting to left of U who is sitting to the immediate left of P. Only two persons sit between P and V.

Question No. 80

Who is sitting fourth to the left end of the row?

Options :

1. P

2. U

3. M
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4. W

5. None of these

Answer : U

Direction:
In each question below are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts:

Question No. 81

Statements:

Only a few work is success

No work is hard

All hards are abilities  

Conclusions:

I. All hards are works is a possibility. 

II. Atleast some success are work.    

Options :

1. Only II follows

2. Either I or II follows

3. Only I follows

4. Both I and II follow

5. Neither I nor II follows

Answer : Only II follows

Direction:
In each question below are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts:
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Question No. 82

Statements:

All dogs are cats

Only a few rat is cat

No parrot is dog 

Conclusions:

I. Some parrots are cats is a possibility.

II. All dogs are rats is a possibility.

Options :

1. Only II follows

2. Either I or II follows

3. Only I follows

4. Both I and II follow

5. Neither I nor II follows

Answer : Both I and II follow

Direction:
In each question below are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts:

Question No. 83

Statements:

Only steel is gold

No silver is steel 

No iron is silver

Conclusions:
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I. Some steels are irons.

II. All irons are gold is a possibility.

Options :

1. Only II follows

2. Either I or II follows

3. Only I follows

4. Neither I nor II follows

5.

Answer : Neither I nor II follows

Direction:
In each question below are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts:

Question No. 84

Statements:

All hills are bills

All drills are grills

No hill is drill

Conclusions:

I. No grill is hill. 

II. Some drills are bills is a possibility.

Options :

1. Neither I nor II follows

2. Either I or II follows

3. Only I follows

4. Only II follows
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5.

Answer : Only II follows

Direction:
In each question below are given some statements followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusions logically follows from the given statements, disregarding commonly
known facts:

Question No. 85

Statements:

Only a few lake is river

No sea is river

Some mountains are sea

Conclusions:

I. No mountain is river

II. Some rivers are mountains 

Options :

1. Only II follows

2. Neither I or II follows

3. Only I follows

4. Both I and II follow

5.

Answer : Neither I or II follows

Direction:
Study the given information carefully and answer the questions that follow:-

Ten boxes, A, B, C, D, E, F, G, H, I and J are placed one above the other in any particular manner. Box 1 is at the

bottom and Box 10 is at the top.
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There are two boxes between F and I. Box J is placed at the bottom. There are three boxes between Box A and Box

E. Box I is placed on an even numbered position. Box C is at 8th numbered position. Box D is kept immediately

below Box C and immediately above Box E. Only Box H is placed between Box G and Box I.

Question No. 86

Which statement among the following is true?

Options :

1. A is placed at 8th position.

2. E is placed exact between D and F.

3. There are three boxes below the Box H.

4. Box F is placed at even numbered position.

5. Box I is immediate below Box E.

Answer : E is placed exact between D and F.

Direction:
Study the given information carefully and answer the questions that follow:-

Ten boxes, A, B, C, D, E, F, G, H, I and J are placed one above the other in any particular manner. Box 1 is at the

bottom and Box 10 is at the top.

There are two boxes between F and I. Box J is placed at the bottom. There are three boxes between Box A and Box

E. Box I is placed on an even numbered position. Box C is at 8th numbered position. Box D is kept immediately

below Box C and immediately above Box E. Only Box H is placed between Box G and Box I.

Question No. 87

 Find the odd one out?

Options :

1. A – 10th position

2. E - 6th position

3. H – 2nd position
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4. F – 5th position

5. None of these

Answer : H – 2nd position

Direction:
Study the given information carefully and answer the questions that follow:-

Ten boxes, A, B, C, D, E, F, G, H, I and J are placed one above the other in any particular manner. Box 1 is at the

bottom and Box 10 is at the top.

There are two boxes between F and I. Box J is placed at the bottom. There are three boxes between Box A and Box

E. Box I is placed on an even numbered position. Box C is at 8th numbered position. Box D is kept immediately

below Box C and immediately above Box E. Only Box H is placed between Box G and Box I.

Question No. 88

How many boxes are there in between the box of D and H?

Options :

1. Three

2. One

3. Two

4. None

5. None of these

Answer : Three

Direction:
Study the given information carefully and answer the questions that follow:-

Ten boxes, A, B, C, D, E, F, G, H, I and J are placed one above the other in any particular manner. Box 1 is at the

bottom and Box 10 is at the top.

There are two boxes between F and I. Box J is placed at the bottom. There are three boxes between Box A and Box

E. Box I is placed on an even numbered position. Box C is at 8th numbered position. Box D is kept immediately

below Box C and immediately above Box E. Only Box H is placed between Box G and Box I.
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Question No. 89

How many boxes are placed below the box of I?

Options :

1. One

2. Three

3. Five

4. Seven

5. None of these

Answer : One

Direction:
Study the given information carefully and answer the questions that follow:-

Ten boxes, A, B, C, D, E, F, G, H, I and J are placed one above the other in any particular manner. Box 1 is at the

bottom and Box 10 is at the top.

There are two boxes between F and I. Box J is placed at the bottom. There are three boxes between Box A and Box

E. Box I is placed on an even numbered position. Box C is at 8th numbered position. Box D is kept immediately

below Box C and immediately above Box E. Only Box H is placed between Box G and Box I.

Question No. 90

Which box is at 3rd position?

Options :

1. G

2. H

3. B

4. E

5. F

Answer : H

Direction:
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Study the following arrangement carefully and answer the questions given below.

5 © D A M 6 U J $ @ E K 4 3 F/ I W 8 * 7 B 2 P 3 % 5 Y R V 1 Q # 9 H

Question No. 91

Which of the following element is exactly in the middle of first vowel in this series from the right side and R in the

above arrangement?

Options :

1. 7

2. 2

3. 5

4. E

5. None of these

Answer : 2

Direction:
Study the following arrangement carefully and answer the questions given below.

5 © D A M 6 U J $ @ E K 4 3 F/ I W 8 * 7 B 2 P 3 % 5 Y R V 1 Q # 9 H

Question No. 92

If all numbers are eliminated from the series then, which of the following element is 16th from right end of the

series? 

Options :

1. $

2. B

3. @

4. E

5. None of these

Answer : E

Direction:
Study the following arrangement carefully and answer the questions given below.
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5 © D A M 6 U J $ @ E K 4 3 F/ I W 8 * 7 B 2 P 3 % 5 Y R V 1 Q # 9 H

Question No. 93

What will come in place of the question mark in the following series based on the above arrangement?

MJD, E3$, I*F, 2%7, ?

Options :

1. Y1%

2. RQY

3. V#Y

4. RQ5

5. None of these

Answer : RQ5

Direction:
Study the following arrangement carefully and answer the questions given below.

5 © D A M 6 U J $ @ E K 4 3 F/ I W 8 * 7 B 2 P 3 % 5 Y R V 1 Q # 9 H

Question No. 94

How many such symbols are there in the above arrangement each of which is immediately preceded by a

consonant but not immediately followed by a Vowel?

Options :

1. None

2. Two

3. One

4. More than three

5. Three

Answer : Two

Direction:
Study the following arrangement carefully and answer the questions given below.
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5 © D A M 6 U J $ @ E K 4 3 F/ I W 8 * 7 B 2 P 3 % 5 Y R V 1 Q # 9 H

Question No. 95

How many such Vowels are there in the above arrangement each of which is immediately followed by a number

but not immediately preceded by a symbol?

Options :

1. One

2. Two

3. None

4. More than three

5. Three

Answer : None

Direction:
Study the following information carefully and answer the question that follow -

There are eight persons who attended seminar on two different dates – 11th and 24th of the four different months

starting from March to June.

Only three persons attend seminar between V and U, who goes in the month which has an even number of days.

More than four persons attend seminar after P. Only two person attend seminar between P and T, who attends on

an even number date. V attends seminar immediate after R, but not in the same month. Q and W attend seminar on

the same date but in different month. More than one person attend seminar between S and W. U and T doesn’t

attend seminar in the same month.

Question No. 96

How many persons attended the seminar after which Q attended? 

Options :

1. None

2. Two

3. Three
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4. One

5. None of these

Answer : Two

Direction:
Study the following information carefully and answer the question that follow-

There are eight persons who attended seminar on two different dates – 11th and 24th of the four different months

starting from March to June.

Only three persons attend seminar between V and U, who goes in the month which has an even number of days.

More than four persons attend seminar after P. Only two person attend seminar between P and T, who attends on

an even number date. V attends seminar immediate after R, but not in the same month. Q and W attend seminar on

the same date but in different month. More than one person attend seminar between S and W. U and T doesn’t

attend seminar in the same month.

Question No. 97

T, attended the seminar in which month?

Options :

1. March

2. May

3. June

4. April

5. None of these

Answer : April

Direction:
Study the following information carefully and answer the question that follow-

There are eight persons who attended seminar on two different dates – 11th and 24th of the four different months

starting from March to June.

Only three persons attend seminar between V and U, who goes in the month which has an even number of days.

More than four persons attend seminar after P. Only two person attend seminar between P and T, who attends on
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an even number date. V attends seminar immediate after R, but not in the same month. Q and W attend seminar on

the same date but in different month. More than one person attend seminar between S and W. U and T doesn’t

attend seminar in the same month.

Question No. 98

If P is related to U, V is related to S in the same way to who is R related to?

Options :

1. T

2. Q

3. W

4. None

5. None of these

Answer : W

Direction:
Study the following information carefully and answer the question that follow-

There are eight persons who attended seminar on two different dates – 11th and 24th of the four different months

starting from March to June.

Only three persons attend seminar between V and U, who goes in the month which has an even number of days.

More than four persons attend seminar after P. Only two person attend seminar between P and T, who attends on

an even number date. V attends seminar immediate after R, but not in the same month. Q and W attend seminar on

the same date but in different month. More than one person attend seminar between S and W. U and T doesn’t

attend seminar in the same month.

Question No. 99

Which statement is true among the given statements? 

Options :

1. P is the first one to attend the seminar
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2. V attends the seminar just before T

3. U and W attended the seminar in the same month

4. W attends the seminar on the same date with R

5. All are true

Answer : All are true

Direction:
Study the following information carefully and answer the question that follow-

There are eight persons who attended seminar on two different dates – 11th and 24th of the four different months

starting from March to June.

Only three persons attend seminar between V and U, who goes in the month which has an even number of days.

More than four persons attend seminar after P. Only two person attend seminar between P and T, who attends on

an even number date. V attends seminar immediate after R, but not in the same month. Q and W attend seminar on

the same date but in different month. More than one person attend seminar between S and W. U and T doesn’t

attend seminar in the same month.

Question No. 100

Which person attends the seminar just before and just after Q?

Options :

1. P and R

2. S and U

3. W and R

4. T and V

5. None of these

Answer : S and U

Attempt Mock Test Now

All ixamBee Mock Test are FREE @ www.ixamBee.com

SBI Clerk 2020 Previous Year Paper Prelims

https://www.ixambee.com/gmts/0b1ec366924b26fc98fa7b71a9c249cf

